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it F R 38 / Instructions to the Candidates

SRt TR IR HFTHE | Ty 379t &7 feTeROT AT UST & 3R W 73T SIreem| / The question paper is in
the form of test booklet. All candidates will be assessed on identical questions.
Wa@%wmaa:waﬁmﬁmaﬁr/mmmagmﬁmm, @), @ sk @) R g z=T T |
Fael U & & § 3R TH 39YFA 3ca} T TF= fhAT ST / Each objective question is provided with a text and/or

figures wherever applicable with multiple answer choices (A), (B), (C) and (D). Only one among them is correct and §
most appropriate answer shall be selected.

T SIS el & WET See & FNT TATT 37 — ol § 3R el et See & e v fAgrs A9 3iem amep gvom / Al |
objective type questions carry equal marks of THREE for a correct answer and One third negative mark will apply for |
each wrong answer.

TF W & T 3% 3o} 8o UK 3HST ITaTd 3 AT ATC9| / Multiple answers for a question will be regarded as
a wrong answer.

Fea] 37 & Tore asfy 3p=aRRial & ues 31T 3NTHIAR 3cak UF UeTe TRaT 10T §1 / A separate OMR answer sheet is |
provided to all candidates for answering.

HCARRT T T RC 7T IR F AR 95| HCHIHR 0 T o AN Fe 39 3ok H RfeAd w & e |
drgoT ater Urse Ao (AVFTA) T w=ET wY| / Read the instructions on the OMR sheet carefully. Use only Ball Point
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vreeT g3 S el 3 FR F F Ry A AT A G A § RETa €l = 31forar w7 @ 3NTHIR e F sirg )

oy 3 3R w7 & aier 9| W7 A W W Ieck IF &M Hedishal o6l [T STTMT| / Question booklets have been

marked with A or B or C or D or E on the right side top corner, which is mandatory to be written on the OMR sheet in
the box and bubble appropriately, failing which, the answer sheet will not be evaluated.
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and come back to the difficult ones later.

TfE HTERTF B Ar G # ITereY FU T oAl FR AT S Hebell §1 §6 T e e et §r S| / Space
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| e wATSE @ ©X (1) e wde Fier o fe 9X wiet Rwrar m § 3 (2) s seav o e wr div § sk
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01.

02.

03.

04.

T35 9T #12 / Question Booklet Code| A

10 BT = Weh SReAICaRT 31 37197 fora| A eisfemat &hr TRea, oTgent Rl HEAT ¥ 4 3R ¢, Al SRelcakT 3 $THT olet dlel o5 3R
st & T AT §2/10 students took part in a quiz. If the number of girls is 4 more than the number of

boys, find the number of boys and girls who took part in the quiz?

(A) 7 &3 3R 3 @sfRar / 7 Boys & 3 Girls (B) 3 s 3R 7 wisfhar / 3 Boys & 7 Girls
(C) 4 w3H 3R 6 or3fRaT / 4 Boys & 6 Girls (D) 3T ¥ FIS oY A8 / None of the above

AT & ITY 3RIATOIAT AT H 39T 96 &

In the arithmetic progression given below give the next term

=8, -1, 3,7, cocevssoiiras

(A 12 (B) 10 (C) 13 Do) 11

T HIET T QAR & TH O @1 IR &, T AR & 4.0 71X g & gff 7 36 e § 3R swenr o, A & 3
HeX SR Qg Feh TEa &1 TG AT SiaTS T I e

A ladder is placed against a wall such that its foot is at a distance if 4.0m from the wall and its top reaches a
window 3 m above the ground. Find the length of the ladder.

(A)  6.0./m (B) 4.0 #r/m (C) 5.0#/m (D) 453#/m

= few aTw GHehor (8T 7/ In a right angled triangle given below

C
l‘\\A

B

SinLA=7?

A = ®) = ©) = o)

CA BA CA BC

awsiiRrge ‘dr (fex) / Technician ‘B’ (Fitter) — 2018 — TSI / IPRC 3




05.

06.

07.

08.

(sresT uf¥&T F15 / Question Booklet Code| A

gl & FTEX Uk foig & 38T gedd T el TIINETT Wi 57 Thir &

There are exactly tangents to a circle through a point lying outside the circle

(A) dsI/Three (B) UW&/One

(C) alfTwo (D) @IS Agi/None

Bar'r & U 3reTanel & T 3, ¥ / Volume of a hemispherical tank of radius 'r' is

(A)  4mr ®) Imr

(©) % e (D) SR W IS T LT / None of the above

IfE Y & & 20% ﬁ@ﬁﬁ%,ﬁm%%ﬁ_ﬁ%mq@@?ﬁ | / The percentage

increase in the area of a rectangular if each of the sides is increased by 20%.

(A)  40% (B) 44%
C) 42% (D) 46%

T 3T 50 R, / EeT 9 AT ¥ 30 MAete 3R 3mrer 30 e 60 R / ger iy At ¥ Forch 5, sia e

&/ A train runs for 30 minutes at the speed of 50 km/hr and the next 30 minutes at the speed of 60

km/hr. Then the average speed is

(A) 40 f.#r/ =er/40 km/hr (B) 50 f&r.#r/ ger /50 km/hr

(C) 55 foh. Y/ .€e1/55 km/hr (D) 45 . A/ ger/45 km/hr

aE=frge Y (ReX) / Technician ‘B’ (Fitter) — 2018 — 3SR / IPRC 4




09.

10.

1.

12.

T2+ 9T F15 / Question Booklet Code

‘qﬁfg=§ bﬁrmw%’?/lf%=§,what is the value of b?

(A) 25 (B 2
(¢ 17 (D) 15

Ueh T YIS & al M3 & &rer 3icaTed hior 3 82

What is the included angle between two sides of a regular hexagon?

(A)  T75° (B) 120°
(C) 145° (D) =13 T HIS T 181 / None of these

Teh eI faeaet &T pH A=, & / pH value of a neutral solution is

(A) 6 (B) 5
(C) 8 (D) 7
VAT & vk AN 3iferargs T Fee i wfmar 3

is a process of forming a thick oxide layer of aluminum

(A) AU / Galvanizing (B)  shIFCYeT / Chromising

(C) RTSfToT/ Sherardising (D)  ¥EEOT/ Anodising

a@erge ¥ (feX) / Technician ‘B’ (Fitter) — 2018 — 33t / IPRC




13;

14.

15.

16.

g9sT 9T F13 / Question Booklet Code

TG fcaa AT ATl i AT §7 / Which is the best thermal conductor?

(A) & AT / Pure Aluminium (B) &/ Pure Copper

(C) g didr/ Pure Silver (D) aRfeTA/ Beryllium
mﬁﬁﬂﬁa%m%mm &/ Rear view mirrors used in vehicles are

(A)  37ader gUuT / Concave mirror (B) THA &UUT / Plane mirror

(C)  3cdel gUuT / Convex mirror (D) IWIFd & T I AT 78T / None of the above

feTraiaR $r vg.37S. 5TS & / Sl unit of potential difference

(A) VfFTIT/ Ampere (B)
(C) S/ Joule D)
Ed & 9= wIse & AT feed S AT T

The portion of the broad part of the file without teeth is

(A) eI/ Face (B)

(C) 9R/Edge (D)

dre / Watts

dlec / Volts

Twsr/ Heel

&/ Tary

aeafRer <y (R5eX) / Technician ‘B’ (Fitter) — 2018 — 3§ / IPRC




17.

18.

19.

20.

e 9T¥&T F15 / Question Booklet Code

&7l hTE TR SelS T TS AT SATAT S

The length of the hacksaw blade is measured from

(A)  ScI3 & 3id &I AT d / End to end of blade
(B) U T & & & e H W gl [T & B¢ & Fhgs b

Centre of one pin hole to the centre of another pin hole
(C) EIER 1T & Ush B ¥ gHY B d / One end of the toothed portion to the other end

(D) U B & 3id & gAY B & 3id a / End of one hole to the end of the other pin hole

IcTell T[S €T e IR & fAT, sois T g 3ugerd e g

For hacksawing thin tubing the most suitable pitch of blade is

(A) 0.8 fA.FA.mm (8) 1 f&A#H.mm
(C) 1.4@AA .mm (D) 1.8 &HA/.mm

Teh FISA 7 HETH FIe ¢ / Second cut in a file is the

(A) 3R/ Shape (B) @ers/Cut
(C) I3/ Grade (D) 9R=d<¢ / Section

SieiT ShieldR o, 87 gl ST & / Jenny Caliper is also called as

(A)  3M3¢X13S Shielax / Outride caliper (B) 3IHTSS ShellwR / Inside caliper
(C)  Tawat #35T AW / Hermaphrodite caliper (D) 3Rk # ¥ IS 37 / None of the above

a@aAger ‘@ (WeX) / Technician ‘B’ (Fitter) — 2018 — 3TEAIRIAT / IPRC




22.

23.

24,

T2t 9T F13/ Question Booklet Code

& o7 T gfgerT W Flle WeT &1 31 § / The slots on angle plate provided for

(A) $TR & F& / Reducing the weight

(B)  amst steet Y YeT#d / Accommodating clamping bolts
(C) T I gaIi= / Aligning the work

(D) gﬁ%mﬁrﬁaﬁﬁa/ Hanging with hooks

& Y AT W AT Y TN WA A &

The measurements are set on the dividers usually with

(A) St HfgT / Jenny Caliper (B) af=iaX AT/ Vernier Caliper
(C) sEqIdT A9 / Steel rule (D) HTSHIHAI / Micrometer

T 915 AT AR STEST AI5H gl STl ¢ Faifeh

The bench vice is called as parallel jaw vice because

(A) g WHICR 98T aTel edeh TG Fehall © / It can hold the jobs having parallel sides.

(B) T FHIARMET CB‘\’TAEF AR R AT TS § / It is fixed parallel to shop floor

(C) &% I3 & AlsTS AT glar & / Its width of jaws are parallel

(D) 38 Hao oias ,[FUT SIS & FHIGR Fefall § / Its movable jaw moves parallel to the fixed jaw

IS FoiT BT 3TIIET & oI R STaT § / Vice clamps are used to

(A) SHOR SIS I I = / Protect hard jaws

(B) eI I TGl & FAFT / Clamp the work pieces rigidly

(C) uRsehel oo I FYRf&Id W= / Protect the finished surfaces

(D) Tl SI&TS I YR gl & Uehel / Prevent the movable jaw being filed

a@eiifrast «dr (eX) / Technician ‘B’ (Fitter) — 2018 — 3§ / IPRC




25.

26.

27.

28.

9T IfET F15 / Question Booklet Code| A

DIGH a3 Tt & e Y W & o et arsw 7 ¥ e & 3w A Sar g

1 XA

Which among the following vices is used for holding sections of metal, tubes and pipes

(A) =T arsg / Pin vice (B) 3NSIR-fAATar a1$H / Tool maker vice
(C) ST arsd/Bench vice (D) UIEY a13H / Pipe vice

BT & & e a7 Hele asg et Al 3R Feater det & e off 31f8rse T o) e R S FehdT 2

/ Which one of the following machine vice can be set at any desired angle in both horizontal and vertical
planes?

(A) ol arsd / Plain Vice (B) T #=flieT 9159 / Fixed machine vise
(C) @rdfye arsd / Universal vice (D) TR a15d / Swivel vise

AT AT TR Al HTAT & WTr AT AL & T ST Hehell &, 38 FHgT STl &

The minimum measurement that can be correctly read with a Vernier caliper is called

(A) 39 1T f3d1ateT / Sub scale division
(B) F&T Thet f3dIST=T / Main scale division
(C) =T uTadi / Zero reading

(D) 37c9adHie / Least count

gfeRR eSSt &1 AT &I A= & fore R Srar §

Vernier depth gauge is used for the measuring of

(A) &TET A9/ External measurement

(B) <, WraT Talle 3R AR / Holes, recesses slots and steps
(C) 37idies AT / Internal measurement

(D) T = / Pitch diameter

FEehfrge & (WeX) / Technician ‘B’ (Fitter) — 2018 — TSI / IPRC 9




29.

30.

31.

32.

wesT qfT F1g / Question Booklet Code| A

AZHIAR H e T # HAcE FAT & / Ratchet stop in micrometer helps to

(A) % @I olleh st / Lock the spindle

(B) Y= e I WA =T / Adjust zero error
(C) &Ia far=a=oT / Control the pressure

(D) e HROT F / Hold the job

ATSHIFACT 7 Y 3 T 318 § / Zero error in micrometer means

(A) HASHIHC T & / Micrometer is true
(B) Riser X = Reet f&@ig & T § / Zero mark on the thimble is visible
(C) el W SiRY 3R Tolta qx AERr YW@T U 78 §, ST ATYT Hheleh T A & / Zero on thimble and datum

line on sleeve do not coincide when measuring faces are in contact
(D) Ufder & &g 9197 et & / There is negligible gap between the anvil

STET SATH ST GehgdT T ST & fav ReAfai@d Iuaol & I it J1 9397 fhar Sirar §2 / Which among the

following instruments is used to check the concentricity of the outside diameter?

(A) &rAT ST/ Limit gauges

(B) STl Y{I&ToT e / Dial test indicator

(C) ¥I1SeT 9/ Sine bar

(D) AR Sa WigweX / Vernier bevel protractor

eeT Ig GRRTT Y & T 6 a3 3R IR Seares S F e PuiRe @it & s § Pefafda
30T & { it AT Shael Heehi T 51 o [T 3uHT o St &

Which among the following instruments are used to check the components only to ensure that the sizes are
within the prescribed limits in mass production work

(A) ?ﬁm/Trysquare (B) WWW/Dialtestindicator
(C) 5T/ Gauges (D) IR HTATR / Vernier caliper

aeARge & (%) / Technician ‘B’ (Fitter) — 2018 — 3m$d3mH / IPRC 10




33.

34.

35.

36.

U3 9faeT F13 / Question Booklet Code

AT 5T 7 No Go &Y &1 fa=T FTEE

In the limit gauges the dimension of No Go end is equal to

(A) H@Hﬁaﬁﬁﬂﬁm/ Minimum permissible dimension
(B)  3f&ehc# 319 f4AT / Maximum permissible dimension
(C) 3%rfa#AT/ Same dimension

(D)  fa®T & HTEY/ Half the dimension

AT, 24 & TR T AR, A ekl el &, T ST &

In the drill, the cone shaped end which does the cutting is called

(A)  &Telr / Flute (B) @& /Land
(C) feig/ Point (D) <f&/ Shank

RrTad & & sler @1 ¢uR A AT 7 REAT R, S ST AT T 1 Tedle 7 e I &7

Which among the following is the part of the taper shank drill which fits into the slot of the drilling machine

spindle?
(A) Ts/Body (B) &ar/Tang
(C) %/ Shank (D) &/ Land

QAT FiTsTeT o WfSeT 9T o faig ahior g

The point angle of twist drill of general purpose is

(A)  140° (B) 108°
©) 112° (D) 118°

aE=NRrst ‘@ (RFeX) / Technician ‘B’ (Fitter) — 2018 — 3T$IRH / IPRC
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37.

38.

39.

40.

wesT 9f3T 13 / Question Booklet Code| A

AT AT T & AR § TR ek IR I ehrert & I sTAAT BT S dTell It BT g & AR A
___ wgleag

A wedge like tool used for removing the taper shank tools from the nose of the drilling machine spindle is
called

(A)  SIHT TS / Drill chuck (B) ¥eid/ Sleeve
(C) Wrec / Socket (D)  &=&AT fgwe / Drill drift
Teh qUT TReRHUT & Shedeh T Ueh SRAT SaRT o T 1T 3137 1 g3 &l gl ST &

The distance a drill advances into the job in one complete revolution is known as

(A)  @deT Iret / Cutting speed (B) Yer/Feed
(C) drel/ Speed (D) IR .Gr.uA/RP.M
TTfeTeh Heldhe, & forw foRaT ST & / Spot facing is done to

(A) TS5 FH HUE FATY, Alfh I8 W atee MY 3 die of Fehel
Make surface flat so that the bolt head can take proper seat on the surface
(B)  SRAT & &l GuRsehe / Given fine finish to the drilled hole

(C)  HiSler & it Sgl+l / Enlarge the existing hole
(D) 8% 9 =Er = &= / Produce thread on the hole

fretfaf@a # & sl a1 acter 3o B 1 Turdd: Fufd 3R qom § 39eT i 82/

Which among the following cutting tool is used to finish and enlarge a hole accurately?

(A) @A/ Dril (B) ¥9/Tap
() {F/Reamer (D) wfddesT / Counter bore

aEAREe 4 (Wex) / Technician ‘B’ (Fitter) — 2018 — 33zt / IPRC 12




99T 9T F15 / Question Booklet Code| A

4. Cfaf@d & & Bie AT 3787 & GACR A & 3o 937 & T I3 % [6g ¥ FI1d foig ash gl &2

Which of the following is the distance from a point one thread to a corresponding point on the adjacent thread

measured parallel to the axis?

(A) 37T/ Lead (B) URA/ Flank

(C) ¥/ Root (D) 3ieRTer/ Pitch

42. TR F 3 e JiEd SRE 7 v By a1 9o & ATeIH ¥ U 3R A adhelr 91 Wi ST & /

Which among the following machinery operation a tool is pushed or pulled through a hole or surface

(A)  ¥9UT/ Shaping (B) fAfeaT/ Milling

(C) @iTsT/ Slotting (D)  SIEHIOT / Broaching

43 ffafle aqoit ¥ & siet AT rorenior s foRrer o §?

Which one of the following properties offers resistance to abrasion?

(A) dMHSYS / Toughness (B) degdr/ Ductility

(C) oRar/ Hardness (D) 3TETdEEAdT / Malleability

44, gR 3R Hferer AT & FT 3R 4T I JOTEH 4T 57

What is the property of metal required for wire and cable manufacturing?

(A)  Td=gdar/ Ductility (B) d1#HSYU / Toughness

(C) 3maTaaeddr / Malleability (D) HBRAT/ Hardness

aHaNfRre Y (RFe) / Technician ‘B’ (Fitter) — 2018 — 33T / IPRC 13




T 9T 15 / Question Booklet Code

45. T Ueh TR 41 e & / Bronze is an alloy of
(A)  arer 3R SEaT/ Copper and Zinc (B) o 3R UeffAfAT# / Copper and Aluminium
(C) dm 3R f&=T/ Copper and Tin (D)  are 3R H A/ Copper and Lead
46. ¥ STEIGR gl oIfid § / Galvanized iron is coated with
(A) Toher / Nickel (B) f=A/Tin
(C) SI&AT/Zinc (D) T/ Lead

47.  37lrereT %1 §&T 387 & / The main purpose of annealing is

(A) ORI H YUR = to improve hardness
(B)  IAIHROT H FUR =T/ to improve machinability
(C) Heedl & GUR =T/ to improve toughness

(D) Tsehcd H FUR 31T/ to improve magnetism

48.  37oTT AT & &Y UTgHl S WY F S & o RAtai@a 7 & e suter fear ST 872

Which are the following is used for connecting two pipes with different diameter?

(A)  gFA / Coupling (B) <€rdr/Caps

(C) <r/Tee (D)  319aTAF / Reducer

aaeifargeT &Y (f%eX) / Technician ‘B’ (Fitter) — 2018 — 3SR / IPRC




49.

50.

51.

52.

9T 9TAFT H15 / Question Booklet Code

ﬁmﬁf@aﬁﬁﬁa@ﬁﬁrwmﬁmaﬁwﬁm@@waﬁrmﬁ%ﬁvﬁmmm

Which one of the following methods is generally used to cut threads on G | pipes?

(A)  9fSer AW / Threading machine (B) 1S Tl / Die stocks

(C) Cudc/Tap sets (D) g @IS / Centre lathes

aﬁﬁmmmmmmﬁmﬁaﬁﬂﬁ_#éﬁ%

Non-return valves allow flow in water supply or drainage line

(A) U AT/ One way (B) gfaART/ Two way
(C)  wgel AT/ Multiple way (D) X #AWT/ Three way
& ToIT AIATT: 3R TRade T ey el &

Interchangeability is normally applied for

(A) it & 7S / Repairing of parts (B) T WS 3cUIe+T / Simple piece production

(C) Yot 3cUre=T / Mass production (D)  39UFT Tl / All the above

Ueh Tceh o [dAT & AT 3R & gl STTar &

The measured size of the dimension of a component is called

(A) ARSI 3T / Nominal size (B) ardfas 3T / Actual size

(C) ¥l ATATT / Basic size (D)  377Ad AT / Allowed size

awelfae ¥ (Re) / Technician ‘B’ (Fitter) — 2018 — 33 / IPRC
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53.

54.

58,

56.

T ITNFHT g/ Question Booklet Code

ST U SToTT o AT [T 3 |TeSu[er &1 Sieft &, & 5 gl S &

When tolerance is given on one side of the basic dimension, it is called

(A)  HfESUTT YoTTelT / Tolerance system (B) cfauriRdes @igsvlc/ Bilateral tolerance
(C) U IfRde WiESUIe / Unilateral tolerance (D) &¥edlT YoTrell / Allowance system

Ao & & FieT ¥ ¢ T 3TN SFN a158 & fohar ST &2

Which among of the following nut is used for hand vice?

(A)  30[sa =€ / Thumb nut (B) weahIviT ic / Hexagonal nut
(C) dY@#e/Wing nut (D) fERIT =T/ Check nut
fo5iaT AR T SEAATC AT & e J Uy & forw Farsrarg

Spring washers are used under nuts to prevent

(A)  diec &I JshdleT / Damage to the bolt
(B) ¢ @I %A / Damage to the nut
(C) &I I IhdTe / Damage to the job

(D)  hUsT & HIROT oA I &relidsT / Slackness of nuts due to vibration

T wehIX 3 TR 37, EOTeT 3187 o WA &ict Sl SHIET SATAT &7

In which type of gear, the teeth are cut parallel to the axis of rotation?

(A)  Fusfare @R/ Helical gear (B) ¥R =/ Spur gear
(C) wde 91X/ Bevel gear (D) ¥ ORI/ Worm gear

asifraer ‘@ (RFeX) / Technician ‘B’ (Fitter) — 2018 — 3§ / IPRC
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57.

58.

59.

60.

W9 Gf¥=T F12 / Question Booklet Code| A

forer 3R wuRie 3cures & giFaar §, o il sagar @ gurdd: § PffAT wa §) Ser & daw 7
g T Rlaar T T 78T ¢

Jigs and Fixtures are the production devices used to manufacture duplicates parts accurately. Which one of
the following statement is not correct with respect of jig

(A) I8 IR T TROTIWAT & / It holds the tool

(B) g 3R 3R Fedeh &l FEUT F:RAT & / It locates the tool and the work piece
(C)  TE Fcdeh I YURUTIWT & / It holds the work piece

(D) I 3R &I ARG T § / It guides the tool

e ot e, St fh SIReT H o STRT STaT £, FETSATAT S

The portion of the shaft which is carried in the bearing is called

(A) TISRT/Cage (B) 37iafe ¥/ Inner race
(C) ST XA/ Outer race (D)  Steter / Journal

TRt TTHITALH TR 3T AT & | o= & F foha <ficieh g o1 31T 39Ter hiar?

You have to cut threads on aluminium. Which one of the following coolant will you use?

(A) @S dd/ Lard oil (B) T/ Kerosene
(C) Tfaer@ e/ Soluble oil (D) TAEdTd del / Vegetable oil

fAerfafara 7 & et a1 Sig= & aliet s RO Fer 1] & Harelel 7 glaT &2

Which one of the following joining methods result in the fusion of the parent metal?

(A) Rdea/Riveting (B)  3MHsTeh §4T / Adhesive bonding
(C) ¥iesy / Soldering (D) dessT/Welding

dEeAIRIE Y () / Technician ‘B’ (Fitter) — 2018 — &R/ IPRC 17




ISRO PROPULSION COMPLEX

Mahendragiri

Written Test held on 21.04.2018 for Selection to the Post of

Technician B (Fitter) — Post Code:003

vide Advt. No.IPRC/RMT/2017/01 dated 07.10.2017

ANSWER KEY

Question Booklet Code

~ Qn.No. | Ans.Key

01 B

02 D

03 C 33 -
04 C 34 C
05 C 35 B
06 C 36 D
07 B 37 D
08 C 38 B
09 D 39 A
10 B 40 C
11 D 41 D
12 D 42 D
13 C 43 C
14 C 44 A
15 D 45 C
16 B 46 C
17 B 47 B
18 A 48 D
19 G 49 B
20 C 50 A
21 B 51 C
22 C 52 B
23 D 53 5
24 C 54 C
25 D 55 D
26 c 56 B
27 D 57 A
28 B 58 D
29 C 59 B
30 C 60 D

*** Questions not considered for evaluation




